0 % 6 Calculer les pourcentages de décimales

Nom: Date: Note:
7,05 % 30% = 8,74 x 20% =
9,36 x 50% = 6,76 x 50% =
9, 18 x 40% = 2,21 x40% =
5,24 x20% = 5,03 x 80% =
1,66 x 70% = 3,28 x20% =
0,49 x20% = 1,55 x 80% =
1,5 %x50% = 6,07 x 50% =
0, 56 x 70% = 2,38 x50% =
7,38 x40% = 0,37 x 80% =
8, 84 x 70% = 5,62 x70% =
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P0a 6

Calculer les pourcentages de décimales

Nom:

7,05 x30% = 2.115

9,36 x 50% = 4.68

9,18 x40% = 3.672

5,24 x20% = 1.048

1,66 x70% = 1.162

0,49 x 20% = 0.098

1,5 %x50% = 0.75

0,56 x70% = 0.392

7,38 x 40% = 2.952

8,84 x70% = 6.188

Date:

8,74 x20% = 1.748

6,76 x 50% = 3.38

2,21 x40% = 0.884

5,03 x 80% = 4.024

3,28 x20% = 0.656

1,55 % 80% = 1.24

6,07 x 50% = 3.035

2,38 x50% = 1.19

0,37 x 80% = 0.296

5,62 x70% = 3.934
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Note:
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